
Friday 
Make sure you look carefully at whether it is add or subtract!  

 

                           40 + 30 = 70 

                           55 + 40 = 95 

                           91 – 60 = 31                

                                 6 + 2 + 5 = 13 

                           9 – 4 – 1 = 4 

                           9 + 8 – 3 = 14 

                          10 – 6 + 4 = 8 

                                38 + 27 = 65 

                           91 – 54 = 37 

                           53 – 45 = 8 

                           78 + 31 = 109 

                        41 + 24 + 37 = 102 

 

Miss Ellison-Smith thinks she has the biggest number and Miss Burnett thinks she has the biggest number. 

Who do you agree with? 

  

       

We are both correct as we both have the same number!  

38 + 26 =  64 and 76 – 12 = 64. 


